INVESTMENT APPRAISAL — More guestions + answers
Questions

1. Moia givai n avaykn A¢loAéynon Etrevduoewv (Investment Appraisal) kai yiaTi ivai
ONMAVTIKN YIO JIA ETTIXEIPNON TTPIV TTPOXWPEACEI OTNV ATTOd0XH MIAG ETTEVOUTIKNG
TTPAOTAONG

2. Na ggnynoete m dlagopd petagu Tng MeBodou Etraveiorpagng kai Tng
MeBddou Tng Méong Amdédoong oav HeBAdOUG yia TNV ETTIAOYH ETTEVOUTIKWV
Epywv.

3. Tloiog gival o okotrég TG MeBddou NG KabBaprg MNapouoag agiag 6co agopd
TNV EKTIUNON TWV ETTEVOUTIKWY KEPAAQiwV Kal e Baon autr) Tn uéBodo ToTe £va
£PYO EyKpiveTal,

4. Na dwoeTe OUO PEIOVEKTAPATA KAl BUO TTAEOVEKTANATA TWV TTIO KATW:

i.  MéBodog Tng Méong Atrédoong (Accounting Rate of Return-ARR)

ii. MéBodog Emaveiorpagng (Payback Period)
iii.  Mé£Bodog Tng KaBapng MNMapouoag Agiag (Net Present Value)

EXERCISES

1. Print express Ltd business has provided the following information regarding the
expected cash flows on a new printing machine

Year Cash flow €
0 (90.000)
1 28.400
2 19.500
3 29.000
4 17.000
5 4.000
REQUIRED:

Calculate the exact payback period in years and months. (Answer 3 years + 9* months
to the nearest month) *13.100/17.000x12)



2. Cavallies Ltd are considering a project which has an initial outlay of €50.000. The
annual net receipts for the next five years are estimated to be €15.000 per year. The
cost of capital for Cavallies Ltd is 11%.

The following is an extract from the present value table of €1 at 11%:

11%
Year 1 0,901
Year 2 0,812
Year 3 0,731
Year 4 0,659
Year 5 0,594

REQUIRED:

a) Calculate the NPV of new project
b) Advise Cavallies Ltd whether to undertake the project.

2. ANSWER

a)
Year Cash flows | Presentvalue Net present value

factor
€ € €
0 (new) (50.000) 1 (50.000)
1 15.000 0,901 13.515
2 15.000 0,812 12.180
3 15.000 0,731 10.965
4 15.000 0,659 9.885
5 15.000 0,594 8.910
5.455

b) On financial grounds Cavallies Ltd should go ahead with the project since it
has a positive NPV
ATTO OIKOVOIKNG ATToWnG N €miXEipnon Ba mpétrel va avaAdBel To £pyo agou n

Mapouoa Agia cival BeTIKA.



3. Tamasos Tapestry Ltd is looking at three different carpet weaving machines to
replace an old machinery. Their cost of capital is 11 per cent. The following
information is available for the three machines:

Machine W Machine Y Machine Z
Purchase price 20.000 20.000 20.000
Forecast net cash flows:
Year 1 7.000 6.000 4.000
2 7.000 8.200 4.200
3 6.000 10.300 5.100
4 6.000 800 6.000
5 1.500 800 7.000
5 Scrap value of machine 2.000 1.000 500

The following is an extract from the present value tables of €1 at 11%:

11%
Year O 1
Year 1 0,901
Year 2 0,812
Year 3 0,731
Year 4 0,659
Year 5 0,593

REQUIRED:

(a) Calculate the exact payback period in years and months for each project.
(b) Calculate the NPV of each project.

(c) Advise the managers which machine should be chosen.




3. ANSWER

(a)
Payback period
Machine W Machine Y Machine Z
3 years 2.56 years 4.01 years
Or Or
2 years and 6.8* 4 years and 1.2*
months months
Ranking: 2 1 3
*(5.800/10.300)x12 *(700/7.000)x12
(b)
Discount
Year factor Machine W Machine Y Machine Z
11%
0 1 (20.000) | (20.000) | (20.000) | (20.000) | (20.000) | (20.000)
1 0,901 7.000 6.307 6.000 5.406 4.000 3.604
2 0,812 7.000 5.684 8.200 | 6.658,4 4200 | 3.4104
3 0,731 6.000 4.386 10.300 | 7.529,3 5.100 | 3.728,1
4 0,659 6.000 3.954 800 527,2 6.000 3.954
5 0,593 1.500 889,5 800 4744 7.000 4.151
5 0,593 2.000 1.186 1.000 593 500 296,5
NPV 2.406,5 1.188,3 (856)

(c) On financial grounds Tamasos Tapestry Ltd should choose either machine W which
gives by far the highest NPV or machine Y which also yields a positive NPV (but lower
than machine W by €1.223) and it also has the shortest payback period.




ATT6 o1kovouIKAG TTAEUpdAg N Tamasos Tapestry Ltd Oa Trpétrel va €TTIAESEl €iTE TRV
pnxavi W ,n otroia divel e peydAn dia@opd atrd TiG UTTOAOITTEG UNXAVES , TV
ynAotepn KaBapn Mapouoa Adia (NPV) , A Tnv pnxav Y n otroia divel eriong
0eTik KaBapn MNMapovoa Adia (XapnAdTepn atrdé auth TG pnxavng W kartd
€1.223) aAAd éxel €TTiONG KAl TNV OUVTOUOTEPN TTEPIOSO ATTOTTANPWHAG.

4. Sandra is considering whether to invest in a new molding machine costing €10.000.
She estimates that the future cash flows to be:

Revenue receipts | Operating payments

€ €
Year 1 4.000 3.000
Year 2 5.000 3.200
Year 3 6.000 3.500
Year 4 7.000 3.800
Year 5 7.500 4.000

Her cost of capital is 10%. All costs are paid and revenues received on the last day of
each year. The following is an extract from the present value tables of €1 at 10%:

10%
Year 1 0,909
Year 2 0,826
Year 3 0,751
Year 4 0,683
Year 5 0,621

REQUIRED:

a) Calculate the NPV of new molding machine

b) Advise Sandra whether to invest in the new molding machine.



4. ANSWER

(a)
Year Cash flows Present Net present
value factor  value
€ € €
0 (new) (10.000) 1 (10.000)
1 1.000* 0,909 909
2 1.800 0,826 1.486,8
3 2.500 0,751 1.877,5
4 3.200 0,683 2.185,6
5 3.500 0,621 2.173,5
NPV (1.367,6)

(b) Sandra should not invest in the new molding machine. It would yield a negative net
present value
H Sandra dev mpérel va €evduoel oTnV pnXavn yiarti auth n erévduon divel
apvnTiki KaBapn Mapouoa Agia (NPV)

*revenue receipts — operating payments

Year 1 (4.000-3.000)
Year 2 (5.000-3.200)
Year 3 (6.000-.3.500)
Year 4 (7.000-.3.800)
Year 5 (7.500-.4.000)



5. Olives & Spice is a business and is considering the purchase of a new packing
machine. Two different machines will suit this purpose.
The following information is available for the two machines:

Machine K Machine L
€ €

Purchase price 130.000 140.000
Profits after deducting depreciation

Year 1 40.000 30.000
Year 2 25.000 40.000
Year 3 20.000 50.000
Year 4 15.000 60.000

REQUIRED:

a) Calculate the accounting rate of return (ARR) for both projects.
b) State which project should be undertaken and why.

5. ANSWER
Machine K€ Machine L€
Cost of investment 130.000 140.000
Profits after deducting depreciation
Year 1 40.000 30.000
Year 2 25.000 40.000
Year 3 20.000 50.000
Year 4 15.000 60.000
100.000 180.000
Average annual profit 4 4
= 25.000 = 45.000
25.000 x 100 | 45.000 x 100
ARR (Accounting rate of return) 130.000 140.000
=19,23 % =32,14 %

b) The business should purchase packing machine L since it yields the highest
ARR
H emxeipnon Ba Tpétrel va ayopdaoel To pnxavnua L yiati divel Tn wnAdTepn péon
atmrodoon KEPOWV



